EQUINOX™  umbrea Date: June 27, 2016

Installation Guide www.landscapeforms.com  Ph: 800.5621.2546
///7";""'"" S /_//7"‘"“'”" e PROCEDURE FOR INSTALLATION:
- /// N~ -
N L1 1 1. Locate umbrella attachment hardware (packaged with table or surface mount

stand). Hardware is a 1/4-20 bolt and locknut.

2. Lift umbrella into hole in table or surface mount stand, taking care not to scratch
the tabletop.

3. Turn umbrella to align holes in support and pole. Insert 1/4-20 bolt through holes
and install locknut. See Fig. 2.

4. Open umbrella by pushing nylon-lined center hub up pole until hub locks in place.

Umbrella, plain edge Umbrella with valance STORAGE:

1. Lower the canopy. Push snap button in until nylon-lined center hub can be lowered.
Remove 1/4-20 bolt and locknut.

Lift umbrella straight out of table or stand.

Replace 1/4-20 bolt and locknut in support.

PN

Tools Required

¢ Umbrella ships fully assembled
* No. 2 Phillips screwdriver
e 7/16” wrench or adjustable wrench

NOTE: If specifying Equinox umbrella with a Landscape Forms table that also requires an
umbrella stand, the surface mount stand must be specified. For most Landscape Forms
tables, the umbrella secures to the table and a separate stand is not required. The
hardware for securing the umbrella to the table or stand is shipped with the support.

See separate installation guides for surface mount stand or table.

Fig. 1 — Snap button

WARNING: EQUINOX UMBRELLA MUST BE SECURED IN THE TABLE
SUPPORT OR UMBRELLA STAND SO IT WILL NOT BLOW OUT OF THE / -
TABLE, WHICH COULD POSSIBLY HARM OCCUPANTS.

UMBRELLA CANOPY MUST BE LOWERED AT NIGHT AND IN WINDS OF
EXCESS OF 30 MILES PER HOUR.

ASSEMBLE WITH CARE! Pangard II® Polyester Powdercoat is a strong, long-lasting finish. To protect ( T

this finish during assembly, place unwrapped powdercoated parts on packaging foam or other non- / 1/4-20 BOLT \\1
marring surface. Do not place or slide powdercoated parts on concrete or other hard or textured » _q i
surface — this will damage the finish causing rust to occur. Use touch-up paint on any gouges in the ot “]
finish caused by assembly tools. U iy

) S5 g. 2—S b “




